0-449 OO000O0esO0O0D0OD0OO@DbO22090)

R
2),3)
-1
-2 -2
-2 15
N
0.04mm
, HTB
J
550-0013 20 6 06-6541-5795

-897-



0-449 OO000O0esO0O0D0OD0OO@DbO22090)

300 2
) (—‘ %30
——— |
R NIRRT _
3 f} 2y 407) =
e/ 8 $26 s s &
$24.5%20, 57 8 42 f S &
7} P S =
$24.5/ & 26
2 /*3 40|50 M
24.5 - S5 (1=
uw 6ol 100 HTR (t=19) T45— (t=9)
-3
0 9 gl [ 2 3
12 11 4
6
(t=9mm) (t=19mm) = V e
8’
-4 No.
-4 -1
1 (
No. i1 2 3 No. i1 2 3
) 5 7 1 0 0 0o |8 o 7 9
-1 -1 2 1 1 1 9 1 2 2
2 3 14 3 5 10 0 5 8
4 2 0 0 11 1 4 5
5 5 2 7 12 0 2 2
2 6 | 10 5 7
7 5 3 4 N/mm?
0.04mm
1) 1997.5
2) 2005.7
3) 2007.8

-898-



